
ARKA JAIN University, Jlrarkhand
2na Semester Final Examination 2019

Subject: Managerial Ecorrornics-ll'

Time : 3 Hours

Course: MBA
Full Marls: l0
Pass Marl<s: 28

. C'andidates are required to give their answers in their own words as far as practicable
o Question Paper is divided into Three Parts - A, B & C
r All parts are cornpulsory.

PART A

Q.l) Short Question Answers (Any four)

a) What is Direct Tax? Give two examples.

b) What do yoLl mean by aggregates of economic systenl?

c) DistirrgLrish between voluntary and involulttary unemploymerrt.

d) What is Monetary Policy?

e) Is inflation desirable?

0 Defrne Balance of Payrnent?

[5x4:201

PART B

Long Question Answers (Any three) [0 x 3 :301

Q.2) What is Macroeconomics? In what way is Macroeconomics applicable to business decision-
malcing?

Q.3) What are tlre three approaches ol'National Inconre accounting?

Q.4) What are tlre bad eff'ects of unenrployntent on econornic growth?

Q.5) Explain the different phases of business cycle.

Q.6) Define Phillips Curve. Give its clraracteristics.
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, PART C

Case Sturdy/Anal ytical QLrestions

Q.7) (A) Calcu late the Natiorral lnconre and CDP"" by the income method r-rsing the

infortnation:

llemr

(i) Private flnal consumption expenditure

(ii) Net factor income earned from abroad

(iii) Mixed income of the self-ernployed

(iv) SLrbsidies

(v) Irrdirect Taxes

(vi) ConsLrrnption of flxed capital

(v ii) OPeratin g sr"rrPl us

(v i i) Cornpetlsation of errployees

following

[0x2=20]

Rs. in crore

1,300

50

500

r00

200

1,000

5,000

1,500

(B) State whetlrer the fotlowing statements are true or false' cive reasons for your

answer.
(i)Wheninvestmentrnultiplierisl,thevalueofmarginalpropensitytoconsume

is zero,
(ii) The value of average propensity to save can never be greater than 1 '
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ARKA JAIN University, Jharkhand
2nd Semester Final Examination 2019

Subject: International Business

Time: 3 Hours

Cou rse:
Full Marks:
Pass Marks:

MBA
70

28
carrdidates are required to give their answers in their own worcrs u, ,u. u, ***ilQLrestion Paper is divided into Three parts _ A, B & CAll parts are cornpulsory.

PART A

Q'1) short Question Answers 
[5 x 4 :201

a) what is International Business ? what are the Factors that Drives lnternational Business ?
b) what are competitive Advantage and comparative A.vantage?

c) Diffbrentiate between International, Transnational and Multinatiorral co'rpanies.
d) Define balance of payments' For what period is the barance of payrnents prepared?
e) What are the diflferent types of Risks in Internatio,al Business?

0 what do yoLl nlean by (loLrntry Attractiveness in International Business ?

PART B

Long Question Answers(Answer any Three euestion) tlO x 3 = 301
Q'2) Give a brief account of the economic, political and curtural environnrent of business betweennations and their implications for business.

Q.3) Discuss briefly trre different types foreign market entry strategies.

Q'4) List out the characteristics of Murtinatiorrar companies..

Q'5) "Ethics is very important in Internatiorrar Business .,- Discuss.

Q'6) what are various players in the Foreign Excha,ge (Forex) market and what are their rore ?
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PART C

Q.7) Case Studl':-

YoulravebeengivenassignmentandresponsibilityoflnternationalBusiness
r-r rrderstand in g about fol I owin g in stitutions -

a) Catt

b) NAFTA

c) EuroPean Union

d1 Asean

[20 x 1 =20]

of X Ltd. Write Your
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ARKA JAI NUniversity, Jharkhand
L

2th Semester Final Examination -2O19

Subject: Accounting for Managers II.

Time: 3 l-[oLrrs

Course: MBA
Full Marks: 70
Pass Marhs: 28

o Candidates are required to give their answers in their own words as far as practicable.
r Question Paper is divided into Three Par.ts -A,8, & C
o Part-A is corrtains SIX questions out of which FouR have to be answered.
r Part- B contains FIVE questions out of which THREE questions have to be answered.
o Part- C is cornpulsory.

PART A

Q.1) Answer any four questions:

a) "Managernent accoltnting is a decision nral<ing system,,. Comment

b) DistingLrish between explicit cost and irnplicit costs.

c) Frorn the followirrg data, calculate breal<-even point(BEp).

Selling price (PU) Rs 20l-

Variable cost (PU) Rs l5l-

Fixed overhead 20,0001-

lf sales are20%o above BEP, Determine the net profit.

d) Write short notes on 'Machine hour rate.'

e) From the following information calculate net profit ratio when;

GP ratio :40%o

Gross profi t :Rs 60,000/-

Operating expense: Rs 45,000/-

f) Define flexible budget?

(5 X 4: 20)



PART B

Answer any three questions:_
(10x3=30)

Q'2) Distinguish between rnanagement accounting and cost accounting.

Q.3) Explairr the various elements of cost.

Q'a) The following infor,ration relate to tlre activities of the production department of a factory certain period

Material Rs 75,000/-
Direct wages Rs 50,000/-
Overhead Rs 30,000/-

Details of carried out dLrring the period are as fbllows:_

Direcr wages Rs 7500/_
Direct rnaterial Rs 10,000/_

Prepare conrparative statement of the cost if the factory overheads are changed on the basis of

l) Direct material
2) Direct wages
j) Prime Cost.

Q'5)Thelollowingdataistal<enlbrmthe'ecords ofzcompanyason3lrrMarch,20lg:-

Prepaid expenses - Rs2.000/_

Cash

Debtor

Stocl<

Cred itors

BIP

Sales

P urch ase

- Rs 25,000/-
- Rs 12,000/-
- Rs 8,000/-

- Rs 12,000i-

- Rs3,000/-

- Rs 53,000/-
- Rs 34,000/-

Orr the basis of above infbrnration, calculate:_

i) Cr"rrrent ratio ii) Inventor.y turnover ratio
iii) Liquid ratio iv) Debtor turnover ratio

Q'6) Explain the diff'erent tecrr,ique of budgetary contror.



PART C

All questions are compulsory: (10x2:20)

Q.7) The company l.ras two plants at locations I & II, operating at 10o/o andT5oh of their capacities respectively.
TIre cornpany is considering a proposal tomerge the two plants at one locatiorrs tooptimize available capacity.
Following details are available in respect of the two plants, regarding their present performance/ operatiorrs.

F'or decision rnal<ing purpose. you are requirecl to worl< out of the following infornration:-

i) 1-he capacity at which the rnerged plarrt will break even.
ii) The profit of the merged plant worlcing at 8O%o capacity.
iii) Sales required if merged plant is reqLrired to earn an overall profit of Rs 22 lakhs.

Q.8) In a certain factory, tlrree products are made from different material by similar processes. For a typical
period, production cost are as under:-

Particr"rlar

Sales

Variable cost

Fixed cost

, Particular

Material used

Direct labour cost

Overhead (ActLral)

Location I

200

140

30

Location II (RsLal<h)

75

54

14

ProdLrct B

2000

r 000

650

Prodr"rct A
r 600

I 200

800

Prodr-rct C

800

400

350

Overhead is charged to cost o1'eaclr product at the rate of 25% prime cost. Do yop see anytlri,g wrong is
principle in this method of charging overhead? If so, sLrggest preferable methocl.



ARKA JAIN University, Jharkhand
2nd Semester Fina! Examination 2O1g

Sub.ject: Corporate Finance

Tinre: 3 Hours

Course: M.B.A.
Full Marl<s:70
Pass Marl<s: 28

a

a

a

a

Clandidates are required to give their answers in their own words as far as practicable.
Question Paper is divided into Th ree parts _ A, B & C
Parts - A & C are conrpulsory,
Part- B contains FrvE questions out of which rHREE questions are to be answered.

Ql) Short Question Answers

a) 'fhe fbllowing data are available fronr the
itenr of raw-nraterial inventory:

Part A.

inventory control

[5 x 4 :201

section of a factory pertaining to

Arrnual consumption of the item = 5000 Lrnits

Orderirrg cost per order: Rs. 100

Price of the itenr is Rs. 100

Carrying cost20o/o of the cost price per r

On the basis of above, you are required

un it

to ascertain the EoQ for pracing reprerrishment order fbr
the itern.

b) Differerrtiate between

c) Explain the different
Finance

Net Preserrt ValLre and Internal Rate Returrr?

types of Financial Decisiorrs that forrned in the sub.iect matters of Corporate

d) x Ltd issLred l5 percent deberrtures of the face value of Rs.
after l0 years. TIre issr,re expenses were2 percent. Find tlre cost
of50 percent.

100 each, redeemable at l0 premiLrnrs
of debentures, given the firms tax raLe

e) Explain the factors inflirencing the diviclend policy of the firrr.

l) X deposited Rs. 50000 irr a flxecl deposit accoLlnt at
[-[ow mLrch amollnt he will get orr nraturity?

12% p.a. compoundecl qLrarterly fbr three years.

M.B.A. - 2nd Semester Final Examination - 201g - 19 | AJU, Jharil;;;



Long Question Answers

Q2) Define cost of capitar. Differentiate between specific cost of capitar
of capital.

Q3) working capital requirements of a firm depend to a great extent oncycle. Comment.

[I0x3=30]

and weighted average cost

the length of its operating

of tax during tlre flve years rs

charges for
t0%.

Q4) For tlre appropriate financial decisions making, it is essentiar for a financial rnanager to accordproper cognisance of the concept of tirne value of ,r'or.y. Elaborate this staternent.

Q5) The Hansa International co. Ltd. Has to select one of the two project where cost and cashinflows are:

Part icr-rlars Machine "Mars" Velus_Ilptylq_
1,12,250Initial Cost (Rs.) 1,12,250

Estimated Economic life
span

5 Years 5 Years

salvage (Scrap) value (Rs. 6.000 6.000
Net annual income afte
estilrated as below:
Years

81so lmI

2 12750 20750
-) 16750 167 s0
4 20750 12750
5 24750 8750

At the end of third year ng . TheoverltaLrlirrg will be Rs. 50,000 in each case. The company's cut rate or discount rate is

Q6) The earning of a contpany is Rs. l0 per:l]u-r. The capitali.zationrate applicable to tlre companyis l0% ' The company can mal<e a puyori of 30% or 60%o. Using the walter's fornrula, calculate themarl<et price of the company's share. If the company's return on investnr entis l2%o.

Semester Final Examination - 20L8 - 19 l AJU, Jharkhand
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Part C

Q7) Case StudyiAnalytical euestions
a) There are two firnrs X and Y rvlrich are iclenticalstructure. There details are as under_

in all respect
[10x2=201

except in term of tlreir capital

Calculate the value of the
Approach, how an investor
switching over his investment

two firnrs and illustrate using
holding I0 % shares of firnr i
frorn Firrn y to Firrn X.

the Modigliani Miiler (M_M)
(Levered) will be beneficial by

b) Prepare an estimate
fol lowing information :

of net working capital requirenrent for ABC Ltd. For the year 20lg fionr the

ffh}l:i:l:;:i'I"J,ir]to'o on an averase for 2 weel<s, worl<-in-prosress for 2 weeks and
Debtors are allowed 6_weeks creclit.
Cledit allowed by suppliers is g weel<s.
r rme lag rn payrnent of wages is 2 weeks.
AII sales are on credit. A nrininrunr.urh barance of Rs.50,000 is to be maintained.For wlP 

' assLrrne l,00 % completiorr ;,;g. for materiar, *Jioz for labour arrd overheacr.

Particu lar Unlevered 1 fr-G$ Levered ( Firm y)NetOpera@ Rs. 50,000
Debt at l2yo

Rs.5,00,000
Equity Capitatization nate ( f<J

Projected-sale feffi 52000 un it,sExpected selling price per unit.
Raw,',r ate,i ali6i-per u n it.
Labour.oiiper ,ni
Overhead cort pE. r'*it

M.B.A. - 2nd Semester Final Examination _ 201,g _ 19 | AJU, Jharkhand

Rs. 50,000

0

I O"/o 20%

Rs. 100

Rs, 40
Rs. I00
Rs. I0



ARKA JAIN University, Jharkhand
2nd Semester Final Examination 2Ol9

Subject: Consumer Behaviour t

'l'ime: 3 Hours

Course: MBA
F-ull Marks: 70
Pass Marlts: 28

Candidates are required to give their answers in their own worcls as far as practicable.
Question Paper is divided inro Three parts - A. B & C
Parts - A & C are compr_rlsory.

Part - A contains sIX questions and you need to answer any FouR
Part - B contains FIVE questions out of which THREE questions are to be answered

Part A

QI) Short Question Answers

a) what is the meaning a,d nature of consunrer Behaviour ?

[5x4:201

b) what Are consurner Motives and product Motives? Describe eaclr.

c) Product or Particular Brand, Consumer Types Can Be Divided Into Four Categories. what Are
Those?

d) What are the diferent Models of Consumer Behaviour ?

e) Briely explain Buying Motives and how it effects consumer behaviour ?

f) What is the impact of mobility and internet on consumer behaviour explain.

Part B

Long Question Answers
[0x3=301

Q2) Describe the Steps in consunrer Decision Making process in detail.

Q3) Discuss the role of personarity in influencing consumer Behaviour.

Q4) Illrrstrate Howard Seth Model of Consumer Behaviour and explain its current relevance.

Q5)Describe tlre impact of economic, political and Iegal factors influence on consumer buying
decision.

Q6) What is Innovation and how the diffusion olinnovation takes place in marketplace explairr.

- 2nd Semester Final Examination - 201,g-1gl AJU, Jharkhand
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Q7) Case Study:-

Part C

**>rE*

[20 x 1 :20]

A car making colrpany is deciding to make flying cars in India. You are required to:

a) Explain the nrotivation of consumer in buying this car and your way of positioning it

b) Segment. targeting and position the flying car in Indian Market

MBA - 2nd Semester Final Examination -2018-1,91 AJU, Jharkhand



ARKA JAIN University, Jharkhand
2nd Semester Final Examination - 2O18-19

Subject :Human Resource Management

Time : 3 Hours

Course: MBA
Full Marks: 70
Pass Marks: 28

Carrdidates are required to give their answers in their own words as far as practicable.

QLrestion Paper is divided into Three Parts -A, B & C
Part-A contains SIX questions or,rt of which FOUR questions are to be answered.

Part- B contains FIVE qLrestions out of which l'HREE questions are to be answered,

Part C is compulsory.

PART-A

'Q.l) Answer an! four questions in brief: - [5x4:201

a) Wliat is.iob description? Discuss the contents ofjob description in detail.
b) "Performance appraisal is impartial, systematic evaluration of perfornrance of enrployee", Corrrnent.
c) Write a short note on ernployee health, welfare arrd saf'ety.

d) Discuss tlte need and importance of training in modern business environment
e) Discuss the managerial functions of HRM in detail.
f) Differentiate between I{RM and HRD

Answer on.y tltreequestions in detail

PART-B

[10 x 3:30]

Q.2) What is Human Resource Planning? Discuss the process of HRP in detail, Explain any two methods
of manpower demand forecasting

Q.3) What is performance appraisal? DiscLrss the process of appraisal in detail. Explairr any one modern
nrethod ofappraisal.

Q.4) What is Recrr-ritment? DiscLrss the process of selection in detail. Explain any two selection tests.

Q.5) What is negotiation? Explain the process of collective bargaining in detail.

Q.6) Explain the QUAD model of Talent Management irr detail.

a

o

o

,
a



PART C
Q.7) Case study pTl
Mihir Bhandari. An IIM graduate wasappointed the CEO of Cosmos Consultancy Ltd. Cosmos
developed soflware pacl<ages forthe flnance companies and banl<s. The ambierrce at Cosmos was rather
relaxed with a flat organizational structure. Being a software house, it was but natural fbr program*ers
and nranagers to mingle freely with eaclr other. The company promoted a friendly unstructured
atnrosplrere to gel with its nature of business. The average age of a Cosmos employee was25-21\ear.s.
Before Mihir tool< over as the CEO, Hariprasad Bhardwaj, an IIT ian, was heading Cosmos for nearlr -l
years. Hariprasad was l<nown for his professionalisrn and "hllrnarl touch". Most of the young
programmers saw a role model in Hariprasad because of lris down-to-earth and amicable approach. OLrr
of the total staff of 167 ernployees, anyone could walk up to hirn and fi'eely discuss his problerns u ith
lrinr. He enjoyed the weel<-etrcl "fun holrrs" with his employees when the company would give snacks and
tea to all the employees and allow them tirne and space to enjoy themselves. Cosmos has seen a stead\
growth under him, which in tangible terms meant an increase in bLrsiness turnover of Lrp to Rs.45 .,.or.r.
His decision to leave for USA came as a shock to allthe employees. And when the new appointee Mihir
joined Cosntos, there was apprehension in the air. Mihir of course, had an impeccable tracl< record, with a

sound compllter engineering degree and the added managemerrt qualification frorn llM.

Witlrin a few days of tal<ing clrarge, Mihir introduced afew changes. He saw no value in,,fun lrours,'arrcl
decided to discorrtinue this practice. He also insisted that employees first check with his pA arrd then
rneet lrim. Moreover, when one of the programmers remained absent for more tltan2days without any
intimation, Mihir used strong words to comrnLrnicate his displeasr-rre to Naresh Cupta, the pro.ject leader
to wlrose teanr the programmer belonged. Naresh obviously found Mihir strongly opiniotrated because he
reaiized tlrat Milrir was not prepared to buy his explanation for tlre absence. One particular project tearn
ran into trouble clrasing the deadline. Mihir minced no words in communicating to the project manager,
Subodh Walavalkar, that if the project was not completed within next two weeks then he may be forced
to assign the project to anotlrer team. Of course, by now the office grapevine was abuzzthat Mihir has an
"attitude" problem. In the meanwlrile, Subodh Walavalkar resigned along with two other programmers
lL"orn lris teanr, Duritrg the first 6 months, the company showed a slight dip in its profitability. The
conrpany's ernployee turnover went up by a whopping l0%. The rnanaging director. Mr. Shrihari Sharma
was a worried man. He invited Mihir for a meeting to discuss the issue.
Questions:-

a) Wlrat happened at Cosmos when Hariprasad Bhardwaj left tlre company? (6M)
b) Was Mihir Bhandari wrong in his approach? Give reasons for your response. (8 M)
c) If you were in place of Mihir Bhandari what would you do? (6M)

'f***:F****,k**

[201

MBA- 2nd Semester Final Examination -2}Lg-lgl AJU, Jharkhand



ARKA JAIN University, Jharkhand
2nd Semester Final Examination - 2Ol8-{9

Subject :Research Methodology & Analytical tools

Time : 3 Hours

Course: MBA
Full Marl<s: 70
Pass Marks: 28

a

a

a

a

a

Candidates are required to give their answers in their own words as far as practicable.

Question Paper is divided into Three Parts -A, B & C
Part-A contains SIX qr,restions out of which FOUR questions are to be answered.

Part- B contains FIVE questions out of which l'HREE questions are to be answerecl

Part C is compulsory.

Part-4.

Q.l) Answer anyfour questions in brief: -

a) What is research? What are the objectives and characteristics of research?

b) Discuss the different types of scales of measurernent with exarnples.

[5x4:201

c)Supposeinyourclassthereare l0stLrdentsandoneofthernissonof Bill Cates.Andtheyall are

getting monthly pocl(et money as follows ( in $): 50,60,55,70.80,60, 40,70,3000,65. Which will?
the nrost appropriate measllre to represent the data and wlry?

d) Write down the steps of Goal Seek to calculate Breal< Even point.

e) What is an Excel Pivot Table?

f) Explain any 5 string functions with exanrple.

Palt-B

Q.2)-Answer anlt thlgs questions in detail [0 x 3 :301

a) What is a research design? Explairr tlre various components and types of research design in detail.

b) What is Scaling? Discuss various scaling techniques irr detail.

c) Write short notes (any two): l.Correlatiorr Vs Regressiorr 2.Measures o1'central tendency
3. Measures of Dispersiorr

d) Explain VLOOKUP0 with sLritable example.

EMBA-2ndSemesterFinalExamination-2o18-19|AJU,Jharkhand



Hrme

B4

r-* produrt-cl.ata.xlst - h"ticrr:rEoft Excrl

|il ilst- * f;\ -.FormulaS Data F.El./ie',v Vle!'{ v W 'J
FagE LaY'Jut

,& , East

i. ,--.. -:........:.........-. " "i' *';-"'*i^- C D
fLE , 

^l, .--:
Oty Sales t,!"

s8 $ 87.00

46 $ 45.00

53 $ s3.oo

12O $ 120.00

95 $ 96.00

i U3!7011 lv'1id'rvest iExtra Dark Chocolate Plain

J 7l3l7rlt1 East .lvlilk Chocolate l1-:'

6 t!3/2011 'East Milk Chocolate Plain

7 t/3!2}77lv1idr""est fxtra Dark Choco{ate ' Plain

i e lfi/;:a1J l-4idwest tu1ilk Chocolate Plain

. 9 LfilTAll fi'1iclr'vest lvtilk Chocolate Plain

4 ' U3/Zorrf,luilk chocolate Ptrain

l5 tulllk Chocolate Flain

7 t/3!2011 lvlidr",'est fxtra Dark Choco{ate ' Plain 50 $ 90'00

t, U3/7011 l-4idwest tu1ilk Chocolate Plain 63 $ 63'00

g L/317011 lv'liclr,vest hlilk Chocolate Plain fiZ $ 132'00

1"CI 1/3/2011 South Cho'colate Hazelnut Nt'tts 87 $ 108'75

'^^'{ Nrtiq 149 $ 149'00
, ,f 1/3/2011 Sorrth Chocolate Alnrond Nuts 1r+:l ) r$r'L'

' th Extra Dark Chocolate Plain 62 5 93'00
't L? U312011 South txtra uarK LIruuu{dLE 

.;-;^ nt ( 42.00i

I f: 1./3/2Cr11 South Milk Chocolate Plain 42 S 42'O

I 14 U3l2011 Vdest fxtra Dark Cho'colate Plain 
:i : :i ::

. l"lh,l
i rr r r ll Dfri:a aJ

['

I/312017 East

e) Write down the steps using Pivot Table find the following:

l. 'Iotal 
Quantity sold regiori wise

2.Tolal QLrantitY sold

3. Total QuantitY
4. Total Qr-rantitY CategorY wise

Part C
[10x2:201

Q.3) Answer the following questions: -

;;.' ;.il;; *.,t,. .t' u'uJte' i't i cs of coeffi: i 

:"t :l :: l':':j::::
[. ]jl3llj,?T'.111i;'^tio' coeftci.nt u.t*."n the heights orrathers in inches (X) and tlteir sons

2. The Bath room fittings company, jaggu Fittings makes atl the types of Bath room Fittings' The

cornpany manuf-acturing Bath room Taps, has a tixed cost of Rs' 50'000 and has the lollowing Variab

costs: Materiar costsperunit:Rs.35.60,Assignedindirectcosts:Rs. 
rS.r5,LabourcostperLrnit=

I{s. 12.50. lrr addition, the wholesale price (Revenue) that is charged for each Rs' 85 and it is assumet

rlrat the % of bath room taps made that are defective and cannot be sold is2oh'

68 69 70 72

7lX 65 66 57 67

68
"t) 72 69

Y 67 56 6s
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B,1. \\ rite the step to do the following tasks:

a. Create a model that will calculate Total Profit if tlre numtrer of urrits sold is 2,000.

b. Create the model with math formulas and with an influence Diagrarn.

c. Use Goal Seek to calculate the breal<-even point by changirrg the formula irrput'Units'

d. Use the I Variable Data Table f'eaturre to calculate tlre anrounts for Total Revenue, Fixed Costs.

and Total Costs, Total Profit for VarioLrs Units. Calcr"rlate the amount from 0 until 5,000. using an

increment of 500. You can try to create the same results with a lormula to dor-rble checl<.

e. Create a Chart that slrows the Fixed Costs, Total Revenue and Total Costs and that shows the

breal< Even point.

f. Use the 2 Variabte Data Tab le featu re to vary un its and the oh of bath room taps rnade that are

defective and cannot be sold fbr tlre Total Profit.

**,1.:|<{<+t+*{<**
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